3 (Sem-1/CBCS) POL-HC 1

2022

POLITICAL SCIENCE

( Honours )

Paper : POL-HC-1016
( Understanding Political Theory )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following as directed (any ten) :
1x10=10
TS MAIERT Mot Spifd Sed frat (R coieett whi)

(@) Who is known as the father of political
science?

JEAls R wve = s @[t =2

(b) “Man is born free and everywhere he is
in chain”"—said by Anstotle/ Hobbes/
Locke/Laski.

‘i M8 0z o 2 v T % R
| G2 PR (iR GfRR T /=T0 /A T/
I |

( Choose the correct option )

( =% Te! iR Sfered )
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The behavioural approach to the study

of political science was originated in () What is Liberalism opposed to?

UK /USA/France/India. MR Fee facaifier a2
JreAite [ oI R wes @k (i) Totalitarianism
FEGS /SRS /e /SRos| BE RIS
( Choose the correct option ) (i) Authoritarianism
R <!
(&= Sl ik S ) S
Legitimate power is called as : (itf) Socialism
( Fill in the blank ) &M
Y FIOE I R/ =) (iv) All of the above
( Choose the correct option )
Feminism is a protest against what? ( W% Seq iz Sferedt )
TR 529 W‘T@f FE? () Marxism regards State as a
TR 98 I e

Name one supporter of post-modernism. i
: (i) Natural institution

TQ-TIYFRPORIT o ey A1 Bl |
A | rpfed A5
In ancient Greece, City-State was called (ii) Social institution
Rk 1 E
( Fill in the blank ) | | AR R
J 7i) Class institution
oib oS TR-IBTES it t2fE | (iti)
R A
(A O [ T ) ikl
; (iv) Welfare institution
Name one liberal theorist. ' el A
9T SN SifeFT [ Bl ( Choose the correct option )

( wm Seqepl 9y Sferedt )
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(4 ) (5 )

(k) Which one of the following is not a (n) “Democracy is a government in which
normative approach? everyone has a share.” Who said this?

©T (PG SIS /sieRiTe qFel =R ? “afeeg (2R I B! IR eifiE 7S AR

ARy AR TN I e ?

(i) Philosophical approach
(i) Abraham Lincoln

i el
SR R
{ii) Legal approach
- (i) Dicey
L
(iii) Systems approach
oS e (iii) Seeley
| el
(iv) Institutional approach
AETS 4l 62, s
( Choose the correct option ) o

( Choose the correct option )

( @m Ce! ik Shreat ) - e S )

() Name one post-behaviouralist.

i book
3 1 (o) Who is the author of the )
e i T The State and Revolution?

(m) Mary Wollstonecraft is a liberal/radical The State and Revolution N 2%

feminist. PPE (FIT?
R SRAET @R S/ oA
S (p) Name one scholar of participatory
( Choose the correct option ) democracy.
( wm Teaes! ik S ) R O1TOFT AT ANeeq A Tl
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( 6 ) |
|
(@9 Who wrote the book, Leviathan? | () Did post-behaviouralism reject behav-
Leviathan 5 SRR G P2 | otalsmE
! SEI-SIGIRIT  AGITTE A PRI
() Mention any one feature of behaviour- 57
alism. ;
SEIArE R e @bt @fiEy S w4l | (9) What was the central thrust of
enlightenment project?
| GG AIHATS T B wifeEt ?
2. Answer very brieﬂy/,Write short notes on any & ﬁ‘ﬁ i
five of the following : 2x5=10 |
i ) (h) Mention two major devices of direct
wefipe 06 IGEITACE IS ﬁﬂm & @I~k =ife democracy.
Eq‘@ﬁﬂfaﬁ:
T olTegq Tl Yo IF 5?2
(@) Mention two scopes of political science. .
qrefe R 561 (e S | () What is First Past the Post method?
‘ | H (5AIR @ Srafe 2
(p) What is the first wave of feminism? ‘
AR AU G 52 ‘ () Michel Foucault
() Name two proponents of libertarianism. . CT GRIPT
I o L i ol | |
(d) Bring out the sex-gender distinctions. 3. Write short notes on any four of the following : 20
4=
sgioT o wiF AN for Wo@ stz i
| | oS frgPEd & e SR €0 S 5y Gt ol
(e) Historical materialism (@) Class struggle
GRoZPe &M | eIl RIS
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| ( 8 ) (9 )
() Elements of post-modernism 4. Answer any four of the following questions :
10x4=40
TeF-SyfPORIME SAMITIIE
were figl 2T R @it oIt See Bt -
(c) Challenges to the idea of democracy B
(a) Define political theory. Discuss its main
oeogq YR 8RS SR ATJZIPRE features and dimensions. 3+7=10 -

FrEiAoT OGF AR V7 | 3719 24 @HE S
P12 SoITS SITEID 1 |

(d) Behavioural revolution

IR GRIEEMEC}
(b) What is liberalism? Make a comparative
0 e analysis of classical and modern
9 sam;é?:ct:l; e et liberalism. 3+7=10
emn .
: ?
e TR S AR Trfm (€7 JF=RIS S wigh SRR
: 95t SENe TG WS 49t
i
tures of historical a | e
i) e i prERach : | (c) Attempt a critical appraisal of libertar-
ianism and explain its key ideas. 10

oz qRErE @R
D1 B B TG 1) S 115721 1 )

SIoTGl WIE AN A4 ez o |

Marx on democracy

(9) |
CLEICR I EREG | |
RISl ‘ (d) Describe Marxist view of political
theory. How does it reject the liberal
o Rl e e R view? 6+4=10
JEcAfeF ©E9 AHW yReM If w90
FEANST TS AT™*RITS vien 2 (FET SHIRAME A FE2
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(10 )

(11 )

\ () What is the deliberative th f
(e) What is an approach? What als: tl*ie \ SemocracyPiDisohss it Loyt :t?.z: ) o
traditional and modern approaches 1o T
political theory? 2+8=10 l : 4+6=10
SHCETEE I Teqd ©F f$? Z9 o1 QREPRR
e <1 TR 62 AR O TS| S 41 |
i Sigfre gie ¢ 2
G (I;Jxamine the principles of procedural
iit ! ! ' emocracy and discuss the case of
Critically examine the main features of ?
v fe?ninisrsrrl What are the differences l grocedural democracy vs. substantive
; 7 i ermocracy. 4
between liberal feminism and radical | S+5=10
feminism? 5+5-10 | dfeFioe A mfers sremw Aoz @
‘| 9 SIF AT sty N (R aATewT
TR AL PR TGS 7R SIS AT 5 |
E il o T G G 1 G L L
FRARME e Al [ 592 | S,
(g9 What is post-modernism? What are its L
salient features? 4+6=10’
Ged-Sifreem fer W o whigemR
& 57
(h) Discuss the concept of democracy. Do }
you think India is a successful model é
of democracy? Explain. 5+5=1(
|
|
SfoFd <! JTEE I | SEeHS e |
slefemd oel f2pIel SR ? il <4 | \
o aas 23— 11*/449
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